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Analogie v matematice

Case 4. There are three equations connecting the variables,
X+2y +3z=10
X+y+2=06
X+3y—z=8.
In this case we can not select any of the variables

arbitrarily. The values of the variables are fixed because a system of
three unknowns and three (linearly independent) equations has a unique

solution.
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The number of equations is three and the variance is
Zero.
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Relace poCtu proménnych a podminek
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Stupné volnosti se tykaji soustavy, nezahrnuyji.
zda fixujeme v diagramu néjakou proménnou.




Stupné volnosti ve viceslozkovych soustavach

Harwal olid Solubility Phase Diagram
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